7 of

iz

& SollA go] e

ot

1.




o

& f(x) = —3x+k, g(x
‘aj_.

FES SHs k9] 4

? =14

2x+4°] tisteq, (fog)(x) =

)=
e Ankelz}?

(gof)(x)

3 —6 @ -4 B -2



spol 4

ax+3°l

T f(x)

TR

@ 2 3 3

A 1



1

ol

Fy=lx-3]-1°] thol] 0 < x <4 & o, o] T2 2nigrat
530S A= ehE?

N

D21 @ 2,0 ® 2 -1
@1, -1 ® 1, -2



—

72

i

HollA 21 2

TR

oln

o

@ y=+x

@ y=x2

@© y=x

— | =

®y=

@ y=2x3



o5 B71= Ags A9 AE R ol R 29 drolrt. i o84l
Ae BF A=W

<H7]>
Q@ flx)=x+1 © flx)=1
® flx) =" ® f(x)=lx+1]

De,0 @00 ®0,6e ®o0o 6,6



TR f(x) = o+ % +x, glx) = ma+n ol B (fog)(x) =
8x% — 8x2 +4x—1 o2t T wf, m? + n? o] Fr2 Aukd7}? (H, m,n

LIRS

D 7 ® 8 3 9 @ 10 ® 11



L= )
-
Fofu?

1 1
@ §x+§

1 1
@) §X_§
B 2x+2

|



o AF o
T W
o o o
<o A
< o8
R

,m__H N
oT < Mo
T ot K|
ol N R

I

@ 1

I

® I,I,I

@ I.,1I



© fB3) =37(1)

O f2)=1

© f(-1)>f1)

@ © ® 0,0

©a

® A6, 0, ©®

® O, ©






12.

Fry=lx-2+x+1|°lx=md 0, H&FS Ze=th olE
EA 7= e m 9] e
D 14 @ 27 3 374 @ 474 ® 570



